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Grrw : 3 wanfl | [ Qurgs wHLCuemseT : 150
Time Allowed : 3 Hours } [Maximum Marks : 150
Sfleyewr : (1) S@darss cdarsaEsd sflurs ufleurdl cearergr eraugemen

Instructions :

GHOY

Note :

GOy ()

Note : (i)

sflurisg s Careararajb. HFsULFeND GapWlimpLdea D®ps
samarasfiiurerfiiLb o Lanquirss Qgflelssab.

(2) Beb Sivews smUY eulanan GG erapgIusHEGU LWaTUBES
Couam(Hid. UL s auamreaughE@ Quenfled uweuBSsab.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

u@d - 1 sraredluemayn, uGdH - I dondumeyw sallgseaf
aSlenggrafler afepwefl&sah.

Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate
answer-books.

U3 - 1 (sreurellwev) / PART - I (BOTANY)
(wHubluamaer : 75) / (Marks : 75)
Sifley - =y / SECTION - A

SiSG eNanrEaEnsEn e wefléseay. 14x1=14
sfluren eflen_enwgy CarpQsHaE T(Les.

Answer all the questions.
Choose and write the correct answer.
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2
@&CrrGurGerbsaflear 8arCeisama Gamea Aelfigaler Curg yCrm:.Cuen
1-a oty Hlevewudier Hlapdng?
(1) QauGLmeen (<=,) evFCamesn
(@) ursdless () wuCermiesh
In which stage of Prophase 1 of meosis, recombination of chromosome takes place ?
(a) Leptotene (b) Zygotene
(c) Pachytene (d) Diplotene

QuFsSL WHNL anO&ET SRS UMSUTL RO TH5m GHDUBSGMEr
eSleuflggiemenant?

(<) 204 (24) 212 (@) 202 () 102

How many families were described by Bentham and Hooker in their classification ?

(a) 204 ®) 212 (c) 202 (d) 102

ATP -l Blens mmed Yevarriiysaflan erarenfidens

(=) gong (<) Grer® (@) epenpy () Bren
The number of high energy terminal bonds present in ATP is

(a) One (b) Two (c) Three (d) Four

BadsLamauild gasrCereny o maurs@w Crmuuif eg?

(1) QerCasrevGurgr QuisCerir (=) evufEGaflur genyCs
(@) erpCarGuranren S () gmlrr eeure

Which pathogen causes Tikka disease of groundnut ?

(a) Cercospora personata (b) Pyricularia oryzae

(c) Xanthomonas citri (d) Tungro virus



3

C; auflssL b CO, 3 THGW ApRsdnm 6rgi?

(t) PEP (<,) RUBP (@) PGA () DHAP
In C; pathway acceptor molecule of CO, is :
(a) PEP (b) RUBP (c) PGA (d) DHAP

Swa Soar CQewdllguear Sifysludss LwaTuBSSUULBL (P

(1) Slewmemrd LEGLY (=) Wengienemumssid

(&) Bomd LEUY (F) Qemeargd

One of the following processes employed to introduce a foreign gene into 2 cell is :
(@) Electrolysis (b) Electroporation

(c) Hydrolysis (d) Ligation

QeuremenaGeager ergld eunisangeni dlapsluBsdHueur wrir?
(1) ul e () T.D. enavllsenCamr

(@) yEsanan (FF) erLe

Who introduced the term vernalization ?

(a) Butler (b) T.D. Lysenko
(c) Dickens (d} Embden

. (pssan &55MECHTH sramiBb
(1) Qrevfsager erannGLrbly,sefiGuen
(<) DNA aneCaon
(@) CandiGssv
(/) erCanmGaveiv
are called molecular scissors.
(a} Restriction endonuclease
(b) DNA ligase
(c) Helicase
(d) Enolase

4488

[ Siiys / Turn over



4488 4

9. weaflly vaTHL G Ege UTELGOTT Shenadr QHe sraTiuidlarne
(1) @oeisHow grar Caut (&) @G dgdlon graur Gour
(@) @oefigdan grar ganlh  (7) goelddon sreur sa&mG
Skull shaped vascular bundles are seen in :

(a) Dicot root (b) Monocot root

(c) Dicot stem (d) Monocot stem

10. opg srarsso aflylar i fiflay i wrHnsems seawLDiHETI?
(1) QerTéed (=) HyCrrevGumyr
(@) mCenrdym emoridwimerr () enasi eng&men
Hugo de Vries used the term mutation based on his observation on :

(a) Sorghum (b} Neurospora
{c) Oenothera lamarkiana (d) Cicer gigas

11. sifaudeon Vs adBsd wEbsGummar.

(24) WGl (=) @WGlenene
() wgrsedlen ()  aroaG_ e
The strongest painkiller medicine is :

(a) Morphine () Quinine

(c) Digoxin (d) Ephedrine

12. graurgder sewangg emuseaigib Gurgers sreriudn Sa
(=) urpenensoT () @Sarryenanaiom
(@) Carevenansion (rr) evdlafyetansiom

The tissue generally present in all organs of plant is :
(a) Parenchyma (b) Chlorenchyma
(c) Collenchyma (d) Sclerenchyma
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13. 12 eugy fl@ s graugeiiwed sal b FeoL_Gudm @L b
(1) Coaoulfil sy (=) Qevefler forl (@) Sl () QsrasssT
The Twelfth International Botanical Meéting was held at :
(a) Cambridge (b) Leningrad () Kew (d) Kolkata

14. GeuamenL greursdlean @mGlerH Quuwi :
(31) mapGevaey Qaarermlaney (&) Gsev@fAwr uriydefwr

(@) srefl@uwbd urfuGleren () gQudbreansen eravEtaeLev
Binomial of Lady’s finger is :

(a) Hibiscus cannabinus (b) Thespesia populnea

(c) Gossypium barbadense (d) Abelmoschus esculentus

\9fley - g, / SECTION - B

GOy : eremeuGuignd 65 llamaseréE eflenLwellEseab. 7x3=21

Note : Answer any seven questions.

15. QerorGard gHwusdaerer wHSHMSSTUTRSH apandler @ mbser)
Quwirsener eT(pg).

Name any three Binomials of medicinal plants in solanaceae.

16. LrACsEWE eI GraNen? rHSHGHTL(H S(HS.

What is polygamous ? Give an example.

17. esas@prller UL aumbg UTERIST Gl

Draw and label the parts of xylem vessel.

[ Simuys / Turn over
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18. @ N&QsmaT eTemmed Grerean?

What are called passage cells ?

19. &L_gg RNA (t RNA) Se@wuden UL eumpbgl UTGRISmET Gl

Draw and label the parts of Transfer RNA ('t RNA).

20. <owé gen Quipn GeiisHaas sreurhser epadlenar eT(psi.

Write any three dicot transgenic plants.

21. gafly Gorsamaudan @LECLTES SEMUTL®L TIPS,

Write the overall equation of photosynthesis.

22. GOUNE QY GTEMDTED GTEIET?

What is called Respiratory quotient ?

23, @afls sraggusms umruep Cowis.

Define photoperiodism,

24. Qaml g Cyrallev eremmed eretien?

What is called Heterosis ?
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Hifley - & / SECTION - C

@iy : () eemauGuenib mrenE dlemsseniaE et wialssab. e eram

Note :

25,

26.

27.

28.

29.

25 mg senmgliung len_eaflss Couar(Bib. 4x5=20
(i) GCgemeuwirer @Lkisellés LLLL aueTs,
(i)  Answer any four questions including Question No. 25 which is compulsory.

(i) Draw diagrams wherever necessary.

Al e.@s grereflusd GUUT GL@E s _gdlan (ICBN) wp&dlu Sbsriser
gGasend pidleaar Golid®s.

Write any five salient features of ICBN.

Qodigfaw srarssansben, ¢n dsdoo srarssarpen Bl Cu
2ater 2 drarenwlndue Gaumur@sdr gCaaub midamen erps).

Write any five anatomical differences between dicot stem and monocot stem.

ermiig ufler @uEs werULEMS S(ms.

Write the Flow chart of ploidy.

seaflbled) Lglh (SCP) eTemmired crean? SiSem LIWETSenaT 6r(ps.

What is called SCP ? Mention its uses.

Caanmrudlen seursnrall <y uiemel efard@s.

Explain Ganong's respiroscope experiment.

[ &lmiys / Turn over



4488 8

30. unQréaeligueniw surphafiich aﬂwm@smm T(PSIS-

Bring out the physiological effects of gibberellin.

31. wmsseusHe Harguiisar undl Am GHUY TpsI.

Write short note on microbes in medicine.
|_'ﬂ|ﬂaq - /SECTION - D

Gy : () eemaCuend Qrem dlemasense el wellsseb. 2x10=20
(i) Cseneuwrar GLrisafiéd UL wenys.
Note: (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. eanevsev Crrer-msCarendlan-g sme Qerhaet epad efleufl.

Describe Hibiscus rosa - sinensis in Botanical terms.

33. auravgont Had AsrElenu aleufl.

Describe the vascular tissue system.

34, graur H& eweriLban Qewad m usHeaen ellaull.

Explain the Basic techniques of plant tissue culture.

35. Ayleh spndlle Fapb clmanseaar elleufl. (uaruL b Sideg eflassid)

Describe the sequences of reactions of Kreb’s cycle. (Flow chart or Explanation)
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LEd - 11 (eflevrudluied) / PART - I (ZOOLOGY)
(SLQueiraer : 75) / (Marks : 75)
Sifley - 2§ / SECTION - A

@OllY : () Semenss damssErseh ool welsseyb. 16x1=16
() eflwren eflen eows CaThCsHSH TPHIS.
Note : ()  Answer all the questions.

(i) Choose and write the correct answer.

1.  YCers Corenws grpubBssieus

(=1) UfCur sraCr () BlevCaRlwr QarCearrfuwir
(@) QerrevGomis.wib () errflafiwr Quevigen
Plague is caused by :

(a) Vibrio cholera (b) Neisseria gonorrhoea

(¢} Plasmodium (d) Yersinia pestis

2. HIV gr&@eug
(<21) Bb 2 L_adlen erevem GFwsamaTiyb
() @rés Haiug
(&) CD4 whmid T- 2 el Gserser
() sGrmbGurens_ (Raer
HIV attacks :
(@) all cells of our body
(k) RBC

() CD4 and T-helper cells
(d) Thrombocytes

[ Sisliys / Turn over
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3.  QrevenuCumwr Carenmé smyemd
(=) sflugg
(=4) s1s geueurenld
(@) urseflur Cgrbm
() samaflen ¢l ghumbeys saeawuiie Gmna)
Presbyopia is caused due to :
(a) trauma
(b) dustallergy

(c) Dbacterial infection

(d) reduction in the amplitude of accommodation

4. g oflen o drer samamly. e3() eumry 6rg)?

() NO, (@) CO, (@) O () SO,
The most abundant green house gas is :
(a) NO, (b) CO, (c) Oq (d) SO,

5. @bdu Qumd GsanmLsale Gg s Geusoml auergd Ber 0.

(1) sler sler (<21) Gl GGur Cyrélr
(8)) CoiGumr umiim () Afevgenr WigmeD

It is a fast growing species among the Indian major carps :

(a) Catla Catla (b) Labeo Rohita

(c) Labeo Bata (d) Cirrhina Mrigala

6. Uovan Beanser aTHS auflengarwd sribsg?

(<=1) Guird) uridev (=) evsrfl uriblev
(@) suflefl urrblev () semall LimTdlen
Cat fishes belong to order :

(a) Perci formes (b) Siluri formes

(¢) Cyprini formes (d) Channi formes




10.

11.

12.
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Thg eremengld Lrew Lrssden Bg QeweuBHng?

(=) Quudlenm (<) Qyaflan (@) NMuGuev () erflldlen
Which enzyme acts on milk proteins ?
(a) Pepsin (b) Renin (¢) Lipase (d) Erypsin

@rerLmid cuens Hiflflay Crmi Cgrampayssner STyenrod
(21) Qenallen sraaTH(mssa (=) @engaden erliiiy

(@) eewmeumbsTeNLD () QussCsTens
Type II diabetes is due to :

(a) Non - secretion of insulin (b) Insulin resistance
(c) Poor eating (d) Anaemia

£ Qar@ssiul Herarancugaiies wrGlwe Grml arariuBeug 6rg)?
(=) wel yuQer evdleliCrrilen () AuyorLmi® < TsHemri_gen

(@) Qewened E_CLrmrflwr () epwwrevdafur Hrrefev
Which one of the following is a genetic disease ?

(a) Multiple sclerosis (b) Rheumatic arthiritis

(c) Phenyl ketonuria (d) Myasthenia gravis

a8 @b Spbs wIHD PODOTS HHSLUGEDH?

(=) Qubens erfleumy (=) eam_reen
(@) @flu poe () STHH QDD
Which would be the future alternative fuel option ?

(@) Gober gas (b) Hydrogen

(c) Solar energy T (d) Wind energy

waflg G&CrrlwrGsrbaafies 19 LHYWL 20 arhg CsTEHaw Gerbss ?

(1) C (=) E (&) F (m) G
The chromosomes 19 and 20 belong to the group :

(@) C | (b) E () F d G
Qs Qewsamer ereil 2 Fajb H(Hed

(1) W 9&CrrGermbL (<) abCorers GLmbLLi
(8) QL GgeavGaml () ers CrrarmgCuirdlymbd
The device used to count blood cells is :

(a) Sphygmomanometer (b) Haemocytometer

(¢) Stethoscope (d) Electrocardiogram

[ Hliys / Turn over
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13. &y Camallgedsear mhHueug
(&1) urirencu EHLUBSLILLL. Seflées GFuledlen
(1) swouian Sangajsamen sLHULOSHSY
(@) @esyb Qur@psaiear uTTfeel Utmgamws GigrLyed
() GalLev
The inferior colliculi are involved in:
(@) Visual reflexes
(b) Control of head movement

(c) Visual tracking of moving objects
(d) Hearing

14, gan Gupwb Cubum_ghsrer syl

(1) LIUED WIHDW () L6 QadwrHod

(@) ECrrCurBsrd Gapge () ewe . CLmlenms jeTey saHgev
The factor that enriches the gene pool is :

(a) Mutation (b) Somatic variation

(c) Decrease in chromosome (d) Increase in cytoplasm

15. 196 sureueTeUDIET ETHS Guand EieLITy Geueurenioudey FRUGEDE ?

(o1) 1§ G () Ig A (@) IgM () IgE
Which one of the following antibodies involves in allergy ?
@) 1gG (b) IgA () IgM (d) IgE

16. waflgafiey Crllev Crmullean @enEGuagsr Sreb
(=1) 10 Briser (=) 1-2 umpuser (@) 3-8 eurrmiuger () 1 (LD
The incubation period of rabies in human being is :
(a) 10 days (b) 1-2weeks (c) 3-8 weeks (d) 1 year

19fey - 24, / SECTION - B

GO : siemenCuignid 61 elanmaa@né@ elleLwel&saw. 8x3=24

Note : Answer any eight questions.

17. &riue @l iquitb GrenmiIre ereuew?
What is corpus luteumn ?

18. Qapnfli - ymwr Qswed eremug wrg?
What is Herring - Breuer reflex ?




19.

20.

21.

22,

23.

24,

25.

26.

27.

28.
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GGeanrélen - euenywiny.

Define Zoonoses.

GOHHWUNSSD eTar iuBHeusg wrg?

What is known as haematopoiesis ?

urFGLru@elmBg erOGGLTrUmL CaupuBSs:s.

Differentiate epitope from paratope.

wienfCurLenl ereug wrg?
What is pleuripotent ?

Swe ger QemHdledr sHuLamLsaid WP 2 L ameme eréueurmy WIHHOTIH?

How to transfer a whole nucleus into a fertilized egg in the transfection process ?

2 G sseucliwelier 2.sayb Qumflasmer GHNUIADS.

Mention the languages that help in bio informatics.

2.8 @aUILLWIDIZRTD, SLOBE S STESD erevan?
What is the impact of global warming on ocean ?

sgllpasdlen o amay Wenaer ppendlenen er(pgis.
Mention any three edible fishes of Tamil Nadu,

e WiiflwgSiey eremusgy wrg?

What is bio remediation ?

UEUE)(MHEUEMIDUIL| GTEITDTEY 6TemenT?

What is Polymorphism ?

[ Hmliys / Turn over
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September 2014
196y - & / SECTION - C

Ghily : gCsenbd ey RarrssErsE Neorwell aerm aan 31 &G
seseTig LG eflemLwieflssay. 3x5=15

Note: Answer any three questions including question no. 31 which is compulsory.

29. SLé Qsovallen ey UL gL e aflaifl.

Describe the structure of a mature ovum with the aid of diagram.

30. meamapu@fued NefiHeE urdogufler ukisallumu QerGss Heflssaw.

Give an account on contribution of Pasteur to Microbiology.

31. eS&&L e a@Lraugrd gHuU@L oL adary pio 2Lme Cpruildmbs
UTHSTES DS ?

How do inflammatory barriers protect our body against diseases ?

32. Swren e e @Gemrafin weamenw edlensdss.

Explain Tan-Wilmut experiment to produce clones.

33. annig-eSarQuis e9d eramug wrg? eulflens QAgrens wrAwedd igenr
waHugHeusdmen eficursl.

What is Hardy-Weinberg law ? Discuss its importance in population genetics.
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Yifley - /= / SECTION - D

@Oluy : eremauCuggid @rert® edlenrésende fenwelldsayb. 2x10=20

Note: Answer any two questions.

34. s fened sridullen Couamasaens UDM s QT eT(Hgs.

Write an essay on the functions of adrenal gland.

35. fmft o e wapmw edeuf,

Describe the mechanism of urine formation.

36. QLiur_pp sflesmer eawrEEsml LDN @ SO THgs.

Write an essay on management of non-hazardous wastes.

37. Syt ersseny ey eranpred eranan? @ens ereuaurmy Qaiicug? Lo MH QLD
Qes@ew WsHusgieusmg Tpss.

What is called urine sugar analysis ? How to do it and write its significance ?
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